THI2EE SHXEERIFERIIA

sHEH SH2EE7R148HE
7 X E &5 = I =
EHtMXABE RS 9/2T7(HRIERE 7/ 2%5) 5/3 6/7 9/27 10/4 10/11 10/18 108
R EE R 10/11(FRIERE 6/228%5) | | 868D | pmeas | BEGRL) | &I |[+#GhD)| #E HE
% [HERREEHS 9/27 i 1A BREL | 7R (FED)
s |[TBKAE RS 10/4 EE | @R |[HEBER)
" EBIREEHR 9/27 FEEchlh)| B g
SRR EE R 10/4 mH(ER)| B2
B | gemtRAE RS FRE(RIBRE 6/28%E) gogs:
EhREEHE 10/4(FALERE 6/258E)
FEHREE R 9/27(FAlERE 7/108R5)
LEREEHE 10/4
IR A E R (F5E6) 10/11
i [t AE RS () 10/4
i [PESRAE RS ) 10/11
" \LHEHR A A (Filifk) RE
LHEHRABHE (b)) | RERIERE 7/138H%) SOREE 7R TFEEICRRERELET,
Bt RS Ha(REE) EoER>IERE 7/1384
LR R KRB = 10/11
HEBRAE G (BEES 6/7 (k)
REWREEHE 10/11
iﬁ REBREEHE 10/11
% HRMREEHE 108
FEBREEHR 10/18




